# On the average of the sum-of- $p$-prime-divisors function 

by
S. D. Adhikari (Allahabad), G. Coppola (Fisciano)
and Anirban Mukhopadhyay (Allahabad)

1. Introduction and statement of the results. The study of the error term in the average of the sum-of-divisors function is one of the classical problems (see Walfisz [11], Gronwall [6], Wigert [12] and some more recent works by Pétermann [8], [9]) in analytic number theory.

Recently, Adhikari and Coppola [3] proved some $\Omega$-results for the error term in the average of the sum-of-odd-divisors function using a method due to Pétermann [8], [9]. It should be mentioned that the basic method in these papers is averaging over arithmetical progressions which could be traced back to a paper of Hardy and Littlewood. But almost all of the later users (in [2]-[4], [7]-[10] and several other papers) of the method have picked up the idea from the paper [5] of Erdős and Shapiro. The underlying philosophy of the Erdős-Shapiro paper has been described in [1].

In the present paper, we use ideas from another paper of Pétermann [10] for the corresponding problem for the function $\sigma_{(p)}(n)$ for a prime $p$ where $\sigma_{(p)}(n)$ is defined to be the sum of the divisors of $n$ which are relatively coprime to $p$, that is,

$$
\sigma_{(p)}(n)=\sum_{\substack{d \mid n \\ d \not \equiv 0(p)}} d
$$

We call $\sigma_{(p)}(n)$ the sum-of-p-prime-divisors function.
More precisely, defining the error terms $R_{p}(x)$ by

$$
\begin{equation*}
R_{p}(x):=\sum_{n \leq x} \sigma_{(p)}(n)-\frac{\pi^{2} x^{2}}{12}\left(1-\frac{1}{p}\right) \tag{1}
\end{equation*}
$$

we prove the following.

[^0]Theorem 1. We have

$$
R_{p}(x)=\Omega_{ \pm}(x \log \log x)
$$

The present paper is organized as follows: first, in Section 2, we give the necessary lemmas; then, in Section 3, we prove our theorem.

As usual, $[x]$ indicates the integer part of the real (positive) number $x$ and $\{x\}=x-[x]$ its fractional part.

Acknowledgements. The authors would like to thank the referee for his/her suggestions, including the one which leads to two-sided omega results in our theorem as compared to the one-sided one in our earlier manuscript. Also, the authors agree with the referee that the method should be referred to as "Erdős-Shapiro" method since the above mentioned paper of Erdo"s and Shapiro contains in germ mostly everything concerning the technique for this type of functions.
2. Lemmas. We define $R_{p}^{\prime}(x)$ by

$$
\begin{equation*}
R_{p}^{\prime}(x):=\sum_{n \leq x} \frac{\sigma_{(p)}(n)}{n}-\frac{\pi^{2} x}{6}\left(1-\frac{1}{p}\right) . \tag{2}
\end{equation*}
$$

Lemma 1. For each natural number $n$ we have

$$
\frac{\sigma_{(p)}(n)}{n}=\sum_{d \mid n} \frac{\alpha_{p}(d)}{d}
$$

where

$$
\alpha_{p}(d)= \begin{cases}1 & \text { if } p \nmid d, \\ -(p-1) & \text { otherwise } .\end{cases}
$$

Proof. Let $n=p^{r} Q,(p, Q)=1$. Let $d_{1}, \ldots, d_{k}$ be the distinct divisors of $Q$. Then $Q / d_{1}, \ldots, Q / d_{k}$ is a permutation of the divisors of $Q$. Now for a particular $d_{i}$, we have

$$
\frac{1}{d_{i}}\left(1-\frac{p-1}{p}-\frac{p-1}{p^{2}}-\ldots-\frac{p-1}{p^{r}}\right)=\frac{1}{d_{i} p^{r}}
$$

In the above equation, the left hand side is

$$
\frac{1}{d_{i}}-\frac{p-1}{p d_{i}}-\frac{p-1}{p^{2} d_{i}}-\ldots-\frac{p-1}{p^{r} d_{i}}
$$

while the right hand side can be written as

$$
\frac{Q / d_{i}}{n}
$$

Now if we sum over $i$ the left hand side gives

$$
\sum_{d \mid n} \frac{\alpha_{p}(d)}{d}
$$

and the right hand side gives

$$
\frac{1}{n} \sum_{i} Q / d_{i}=\frac{1}{n} \sum_{i} d_{i}=\frac{1}{n} \sum_{\substack{d \mid n \\ d \not \equiv 0(p)}} d=\frac{1}{n} \sigma_{(p)}(n)
$$

Lemma 2. We have

$$
\sum_{n \leq x} \frac{\alpha_{p}(n)}{n}=\log p+O\left(\frac{1}{x}\right)
$$

Proof. We have

$$
\begin{aligned}
\sum_{n \leq x} \frac{\alpha_{p}(n)}{n} & =\sum_{\substack{n \leq x \\
p \nmid n}} \frac{1}{n}+\sum_{\substack{n \leq x \\
p \mid n}} \frac{-(p-1)}{n}=\sum_{n \leq x} \frac{1}{n}-p \sum_{\substack{n \leq x \\
p \mid n}} \frac{1}{n} \\
& =\log x-\log (x / p)+O(1 / x)=\log p+O(1 / x)
\end{aligned}
$$

Lemma 3.

$$
R_{p}^{\prime}(x)=-x \sum_{d>x} \frac{\alpha_{p}(d)}{d^{2}}-\sum_{d \leq x} \frac{\alpha_{p}(d)}{d}\left\{\frac{x}{d}\right\}
$$

Proof. We have

$$
\begin{aligned}
\sum_{d=1}^{\infty} \frac{\alpha_{p}(d)}{d^{2}} & =\sum_{\substack{d=1 \\
p \nmid n}}^{\infty} \frac{1}{d^{2}}-(p-1) \sum_{\substack{d=1 \\
p \mid n}}^{\infty} \frac{1}{d^{2}} \\
& =\sum_{d=1}^{\infty} \frac{1}{d^{2}}-\frac{1}{p} \sum_{d=1}^{\infty} \frac{1}{d^{2}}=\frac{\pi^{2}}{6}\left(1-\frac{1}{p}\right)
\end{aligned}
$$

Therefore, from (2) and Lemma 1, we have

$$
R_{p}^{\prime}(x)=\sum_{n \leq x} \sum_{d \mid n} \frac{\alpha_{p}(d)}{d}-x \sum_{d=1}^{\infty} \frac{\alpha_{p}(d)}{d^{2}}
$$

The right hand side is

$$
\sum_{d \leq x} \frac{\alpha_{p}(d)}{d}\left[\frac{x}{d}\right]-x \sum_{d=1}^{\infty} \frac{\alpha_{p}(d)}{d^{2}}=-x \sum_{d>x} \frac{\alpha_{p}(d)}{d^{2}}-\sum_{d \leq x} \frac{\alpha_{p}(d)}{d}\left\{\frac{x}{d}\right\}
$$

Lemma 4 (Montgomery [7]). If $b, r(>0)$ are integers such that $(b, r)=$ 1 and $\beta$ is a real number, then

$$
\sum_{n=1}^{r}\left\{\frac{n b}{r}+\beta\right\}=\frac{r-1}{2}+\{r \beta\} .
$$

Lemma 5 (Montgomery [7]). With notations as in the last lemma, for any positive integer $N$, we have

$$
\sum_{n=1}^{N}\left\{\frac{n b}{r}+\beta\right\}=\frac{N}{r}\{r \beta\}+\frac{N}{2}\left(\frac{r-1}{r}\right)+O(r)
$$

Lemma 6.

$$
\frac{R_{p}(x)}{x}-R_{p}^{\prime}(x)=O(1)
$$

Proof. From (1) and (2) we have

$$
\frac{R_{p}(x)}{x}-R_{p}^{\prime}(x)=\frac{1}{x} \sum_{n \leq x} \sigma_{(p)}(n)-\sum_{n \leq x} \frac{\sigma_{(p)}(n)}{n}+\frac{\pi^{2} x}{12}\left(1-\frac{1}{p}\right)
$$

Using Lemma 1, the right hand side can be seen to be equal to

$$
\frac{x}{2} \sum_{d>x} \frac{\alpha_{p}(d)}{d^{2}}+\frac{1}{2} \sum_{d \leq x} \frac{\alpha_{p}(d)}{d}-\frac{1}{2 x} \sum_{d \leq x} \alpha_{p}(d)\left(\left\{\frac{x}{d}\right\}-\left\{\frac{x}{d}\right\}^{2}\right)
$$

Since $\sum_{d=1}^{\infty} \alpha_{p}(d) / d$ is convergent and $\left|\alpha_{p}(d)\right| \leq p-1$, the lemma follows. Lemma 7.

$$
R_{p}^{\prime}(x)=-\sum_{d \leq y} \frac{\alpha_{p}(d)}{d}\left\{\frac{x}{d}\right\}+O(1)
$$

uniformly for $x \geq 2, y \geq \sqrt{x}$.
Proof. From Lemma 3,

$$
R_{p}^{\prime}(x)=-x \sum_{d>x} \frac{\alpha_{p}(d)}{d^{2}}-\sum_{d \leq x} \frac{\alpha_{p}(d)}{d}\left\{\frac{x}{d}\right\}
$$

Since

$$
\sum_{d>x} \frac{\alpha_{p}(d)}{d^{2}}=O\left(\frac{1}{x}\right)
$$

we only have to show that

$$
\sum_{y<d \leq x} \frac{\alpha_{p}(d)}{d}\left\{\frac{x}{d}\right\}=O(1)
$$

for $\sqrt{x} \leq y \leq x$. We choose $K$ such that $1 \leq K \leq x / y$. In the range $x / K<d \leq x /(K-1),\{x / d\}$ is monotone. Hence by Lemma 2 ,

$$
\sum_{x / K<d \leq x /(K-1)} \frac{\alpha_{p}(d)}{d}\left\{\frac{x}{d}\right\}=O\left(\frac{K}{x}\right)
$$

Summing up over $K$ such that $2 \leq K \leq x / y$, we obtain

$$
\sum_{y \leq d \leq x} \frac{\alpha_{p}(d)}{d}\left\{\frac{x}{d}\right\}=O\left(\frac{1}{x} \sum_{1 \leq K \leq x / y} K\right)=O\left(\frac{1}{x} \cdot \frac{x^{2}}{y^{2}}\right)=O(1)
$$

as $y \geq \sqrt{x}$.
3. Proof of Theorem 1. For $q \sim \sqrt{N}, \beta \leq q$ and $y=(N+1) q / \sqrt{N}$ $\sim N$, from Lemma 7 , we have

$$
\begin{aligned}
\sum_{n=1}^{N} R_{p}^{\prime}(n q+\beta) & =-\sum_{n=1}^{N} \sum_{d \leq y} \frac{\alpha_{p}(d)}{d}\left\{\frac{n q+\beta}{d}\right\}+O(N) \\
& =-\sum_{d \leq y} \frac{\alpha_{p}(d)}{d} \sum_{n=1}^{N}\left\{\frac{n q+\beta}{d}\right\}+O(N) \\
& =-\sum_{d \leq y} \frac{\alpha_{p}(d)}{d} \sum_{n=1}^{N}\left\{\frac{q /(d, q)}{d /(d, q)} n+\frac{\beta}{d}\right\}+O(N) \\
& =-\sum_{d \leq y} \frac{\alpha_{p}(d)}{d} \cdot \frac{N}{d}(d, q)\left(\left\{\frac{\beta}{(d, q)}\right\}-\frac{1}{2}\right)+O(N)
\end{aligned}
$$

using Lemma 5 in the last step.
We should remark that in Theorem 1 of [10], the identity has been established for a large class of functions. Our lemmas show that our function falls in that class and we get such an identity from that theorem as well.

Now, following the application (d) in [10] (with a slight modification as in [4], which is helpful because $\alpha_{p}(d)$ is negative or positive according as $p$ divides $d$ or not), we make our choices of $q$ and $\beta$. More precisely, we take

$$
q=\frac{m!}{p^{r}}, \quad \text { where } \quad p^{r} \| m!
$$

For the choice $\beta=0$,

$$
\begin{aligned}
\frac{1}{N} \sum_{n=1}^{N} R_{p}^{\prime}(n q+\beta) & =\sum_{\substack{d \leq q^{2} \\
p \mid d}}-\frac{(p-1)(d, q)}{2 d^{2}}+\sum_{\substack{d \leq q^{2} \\
p \nmid d}} \frac{(d, q)}{2 d^{2}}+O(1) \\
& =\sum_{\substack{d \leq q^{2} \\
p \mid d}}-\frac{p(d, q)}{2 d^{2}}+\sum_{d \leq q^{2}} \frac{(d, q)}{2 d^{2}}+O(1) \\
& =\left(1-\frac{1}{2 p}\right) \sum_{l \leq q^{2} / p} \frac{(l, q)}{2 l^{2}}+\sum_{q^{2} / p<d \leq q^{2}} \frac{(d, q)}{2 d^{2}}+O(1)
\end{aligned}
$$

In the last line, the first sum is greater than $C \log m$ for some positive number $C$ and the second sum is $O(1)$. This gives $R_{p}^{\prime}(x)=\Omega_{+}(\log \log x)$. Similarly, for the choice $\beta=q-1$, we obtain $R_{p}^{\prime}(x)=\Omega_{-}(\log \log x)$.

Therefore, from Lemma 6 we get

$$
R_{p}(x)=\Omega_{ \pm}(x \log \log x)
$$

## References

[1] S. D. Adhikari, The average behaviour of the number of solutions of a Diophantine equation and an averaging technique, in: Number Theory: Diophantine, Computational and Algebraic Aspects, K. Győry et al. (eds.), de Gruyter, Berlin, 1998, 1-8.
[2] S. D. Adhikari, R. Balasubramanian and A. Sankaranarayanan, An $\Omega$-result related to $r_{4}(n)$, Hardy-Ramanujan J. 12 (1989), 20-30.
[3] S. D. Adhikari and G. Coppola, On the average of the sum-of-odd-divisors function, preprint.
[4] S. D. Adhikari and Y.-F. S. Pétermann, Lattice points in ellipsoids, Acta Arith. 59 (1991), 329-338.
[5] P. Erdős and H. N. Shapiro, On the changes of sign of a certain error function, Canad. J. Math. 3 (1951), 375-385.
[6] T. H. Gronwall, Some asymptotic expressions in the theory of numbers, Trans. Amer. Math. Soc. 14 (1913), 113-122.
[7] H. L. Montgomery, Fluctuations in the mean of Euler's phi function, Proc. Indian Acad. Sci. (Math. Sci.) 97 (1987), 239-245.
[8] Y.-F. S. Pétermann, An $\Omega$-theorem for an error term related to the sum-of-divisors function, Monatsh. Math. 103 (1987), 145-157.
[9] -, An $\Omega$-theorem for an error term related to the sum-of-divisors function: Addendum, ibid. 105 (1988), 193-194.
[10] -, About a theorem of Paolo Codecà's and $\Omega$-estimates for arithmetical convolutions, J. Number Theory 30 (1988), 71-85.
[11] A. Walfisz, Weylsche Exponentialsummen in der neueren Zahlentheorie, Deutscher Verlag der Wiss., Berlin, 1963.
[12] S. Wigert, Sur quelques fonctions arithmétiques, Acta Math. 37 (1914), 113-140.

Harish-Chandra Research Institute
Chhatnag Road, Jhusi
Allahabad-211 019, India
E-mail: adhikari@mri.ernet.in
anirban@mri.ernet.in
D.I.I.M.A.

University of Salerno
Via Ponte Don Melillo
84084 Fisciano (SA), Italy
E-mail: giocop@interfree.it


[^0]:    2000 Mathematics Subject Classification: Primary 11N37.

